РК                           5 семестр
PROGRESS TEST (модуль 3, unit 6) 

1. Choose the correct word in each of the following.

	        preforming             feasibility               drilling        lifting


   1. In terms of cost,  ………. is obviously a lot cheaper, because all you need are plastic tubes.

   2. But core’s ……… is more accurate.

   3. The key issue here, in terms of  ………, is the tolerance.

2. Match the  words on the left with their correct  definitions on the right.  

            A bar                                                metal rings that hooks can be fixed to for lifting                                        

            Lifting eyes                                      resistance to sliding when two surfaces are pressed together            

            A grab                                              a long piece of metal with a circular section                                                                                                                

            Friction                                            mechanical jaws that grip objects to lift them 
3. Make up sentences. 

1. The new statue portrays a life-sized mammoth              a. could be lowered onto the stone plinth.

2. The engineers couldn’t understand how the statue         b. from getting trapped beneath the statue.

3. The main problem was how to stop the slings                c. carved from a single block of sandstone. 

4. Substitute the underlined words and phrases for the words given below.

In order to (1) find out about the simulator’s dynamic capabilities, we looked at the types of effect the simulator should produce, and (2) the amount these physical effects should be felt by passengers. In order to (3) work out the magnitude of the parameters, it was decided that the prototype will be equipped with variable controls.

	to determine,   to assess,    to what extent,  to improve 


5. Complete the sentences using the passive form of the verb in brackets. 

    Put these sentences from English into Russian.

     The first mechanical mouse (1)………… (improve) by refining its shape. The mechanism (2) ………. (redesign) to use a ball instead of wheels. For the optical mouse, optical sensors (3) ……… .(use). For the touchpad, a new system using a sensitive surface (4) ………. (invent).

6. Think of a product that could be redesigned. Write 5-6 sentences.  

How significantly could it be improved?

What aspect could be redesigned?

What aspects do not require much improvement?

    Take advantage of the words and phrases given below.

            Capacity, performance, looks, reliability, output quality and speed, maintenance.

